BID OPENING DATE: BID OPENING LOCATION:

TABULATION BY:

LJA JOB NO.

TABULATION DATE:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES

TO SERVE KRESSTON SECTION 1

MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D

MONTGOMERY COUNTY, TEXAS

DECEMBER 12, 2023 LJA ENGINEERING, INC.

L.MARTINEZ

DECEMBER 12, 2023 3096-0101 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) MTEX CONSTRUCTION, LLC \$994,087.40

2) BLAZEY CONSTRUCTION SERVICES LLC \$1,054,667.15

3) KENNETH LAMB CONSTRUCTION CO.,LTD. \$1,058,341.00

4) R CONSTRUCTION CIVIL, LLC \$1,069,212.70

5) CROSTEX CONSTRUCTION INC. \$1,145,000.00

CALENDAR DAYS 35/45

I, Micah Kreikemeier, PE, hereby certify these bid tabulations to be true and correct.



BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS

DECEMBER 12, 2023 LJA ENGINEERING, INC. L.MARTINEZ DECEMBER 12, 2023 3096-0101 (9.2)

			1) MTEX CONSTRUCTION, LLC		2) BLAZEY CONSTRUCTION SERVICES LLC		3) KENNETH LAMB CONSTRUCTION CO.,LTD	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVISION I - DRAINAGE FACILITIES ITEMS								
1 24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1679	\$88.00	\$147,752.00	\$81.00	\$135,999.00	\$86.00	\$144,394.00
2 30" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	608	\$112.00	\$68,096.00	\$102.00	\$62,016.00	\$109.00	\$66,272.00
3 TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	2287	\$0.50	\$1,143.50	\$2.75	\$6,289.25	\$2.00	\$4,574.00
4 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$1,520.00	\$1,520.00	\$1,800.00	\$1,800.00
5 STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$1,395.00	\$8,370.00	\$2,665.00	\$15,990.00	\$1,451.00	\$8,706.00
6 STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$1,995.00	\$11,970.00	\$1,770.00	\$10,620.00	\$2,710.00	\$16,260.00
7 STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$1,885.00	\$15,080.00	\$2,400.00	\$19,200.00	\$1,451.00	\$11,608.00
8 STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10" MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$2,450.00	\$19,600.00	\$2,102.00	\$16,816.00	\$3,386.00	\$27,088.00
9 OUTFALL SLOPE PROTECTION NO. 1 FOR 24" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	2	\$4,100.00	\$8,200.00	\$3,714.00	\$7,428.00	\$7,201.00	\$14,402.00
10 REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$2,700.00	\$27,000.00	\$2,822.00	\$28,220.00	\$3,301.00	\$33,010.00
11 OUTFALL SLOPE PROTECTION NO. 1 FOR 30" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$4,925.00	\$4,925.00	\$3,714.00	\$3,714.00	\$9,201.00	\$9,201.00
12 EXCAVATION AND GRADING OF EXTREME EVENT OVERFLOW SWALE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	245	\$10.00	\$2,450.00	\$6.60	\$1,617.00	\$15.00	\$3,675.00
13 EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 1' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	144	\$10.00	\$1,440.00	\$3.90	\$561.60	\$7.00	\$1,008.00
14 EXCAVATION AND GRADING OF DRAINAGE SWALE, 4:1 MINIMUM SIDE SLOPE - 2' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	185	\$10.00	\$1,850.00	\$3.90	\$721.50	\$9.00	\$1,665.00
15 REMOVE AND OFFSITE DISPOSAL OF STORM SEWER OUTFALL, INCLUDES SLOPE PAVEMENT, SLOPED END TREATMENT, AND ALLAPPURTENANCES, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$525.00	\$525.00	\$774.00	\$774.00	\$3,000.00	\$3,000.00
DIVISION I - DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$320,901.50		\$311,486.35		\$346,663.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 1 $\,$

MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D

MONTGOMERY COUNTY, TEXAS DECEMBER 12, 2023

LJA ENGINEERING, INC. L.MARTINEZ DECEMBER 12, 2023 3096-0101 (9.2)

			1) MTEX CONSTRUCTION, LLC		2) BLAZEY CONSTRUCTION SERVICES LLC		3) KENNETH LAMB CONSTRUCTION CO.,LTD.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS								
1 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2234	\$35.00	\$78,190.00	\$31.20	\$69,700.80	\$41.00	\$91,594.00
2 6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	950	\$26.00	\$24,700.00	\$22.00	\$20,900.00	\$31.00	\$29,450.00
3 4" HDPE WATER LINE, C-906, DR 9, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	300	\$19.00	\$5,700.00	\$15.00	\$4,500.00	\$23.00	\$6,900.00
4 TRENCH SAFETY SYSTEM, FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3484	\$0.10	\$348.40	\$0.30	\$1,045.20	\$2.00	\$6,968.00
5 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	4	\$2,100.00	\$8,400.00	\$1,871.00	\$7,484.00	\$1,895.00	\$7,580.00
6 6" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	4	\$1,550.00	\$6,200.00	\$1,286.00	\$5,144.00	\$1,298.00	\$5,192.00
7 FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$5,450.00	\$38,150.00	\$5,923.00	\$41,461.00	\$5,537.00	\$38,759.00
8 WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$625.00	\$1,250.00	\$786.00	\$1,572.00	\$758.00	\$1,516.00
9 SHORT SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	28	\$925.00	\$25,900.00	\$883.00	\$24,724.00	\$1,308.00	\$36,624.00
10 LONG SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	12	\$1,245.00	\$14,940.00	\$1,003.00	\$12,036.00	\$2,417.00	\$29,004.00
DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS SUBTOTAL:				\$203,778.40		\$188,567.00		\$253,587.00
DIVISION III - SANITARY SEWER ITEMS								
1 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' - 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2266	\$41.00	\$92,906.00	\$41.00	\$92,906.00	\$36.00	\$81,576.00
2 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1701	\$42.00	\$71,442.00	\$44.00	\$74,844.00	\$39.00	\$66,339.00
3 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' – 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	83	\$41.00	\$3,403.00	\$40.00	\$3,320.00	\$36.00	\$2,988.00
4 12" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' – 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	639	\$65.00	\$41,535.00	\$65.00	\$41,535.00	\$53.00	\$33,867.00
5 STANDARD PRECAST SANITARY SEWER MANHOLE, 0' – 8' DEPTH, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	27	\$2,950.00	\$79,650.00	\$3,712.00	\$100,224.00	\$2,926.00	\$79,002.00
6 EXTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	25	\$235.00	\$5,875.00	\$188.00	\$4,700.00	\$270.00	\$6,750.00
7 STANDARD PRECAST SANITARY SEWER MANHOLE, SEALED AND VENTED (0'-8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$4,545.00	\$4,545.00	\$5,079.00	\$5,079.00	\$5,724.00	\$5,724.00
8 STANDARD PRECAST SANITARY SEWER MANHOLE, SEALED (0'-8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	3	\$3,135.00	\$9,405.00	\$3,618.00	\$10,854.00	\$3,051.00	\$9,153.00
9 TRENCH SAFETY SYSTEM, FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	5986	\$0.50	\$2,993.00	\$0.30	\$1,795.80	\$2.00	\$11,972.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 1
MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D
MONTGOMERY COUNTY, TEXAS

DECEMBER 12, 2023 LJA ENGINEERING, INC.

LUA VOD NO.			0000 0101 (0.2)					
			1) MTEX CONSTR		2) BLAZEY CONSTRUCTION SERVICES LLC		3) KENNETH LAMB CONSTRUCTION CO.,LTD.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL CC COMPLETE IN PLACE	PPY, LF	1000	\$0.10	\$100.00	\$2.40	\$2,400.00	\$0.01	\$10.00
11 SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLU MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	G,	25	\$985.00	\$24,625.00	\$1,102.00	\$27,550.00	\$797.00	\$19,925.00
12 LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, S 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLU MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	G,	1327	\$35.50	\$47,108.50	\$55.00	\$72,985.00	\$43.00	\$57,061.00
13 STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$850.00	\$1,700.00	\$793.00	\$1,586.00	\$1,002.00	\$2,004.00
14 WET AUGER FOR 12" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLU BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	DES LF	30	\$87.00	\$2,610.00	\$94.00	\$2,820.00	\$129.00	\$3,870.00
DIVISION III - SANITARY SEWER ITEMS SUBTOTAL:				\$387,897.50		\$442,598.80		\$380,241.00
DIVISION IV - MICELLANEOUS ITEMS								
1 EXTRA REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$2.40	\$240.00	\$1.00	\$100.00
2 EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$11,055.00	\$11,055.00	\$4,000.00	\$4,000.00
3 HAUL UTILITY SPOILS TO DESIGNATED ONSITE DISPOSAL SITE, USING OFF TRUCKS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AN COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIF AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	D	1	\$15,250.00	\$15,250.00	\$27,823.00	\$27,823.00	\$5,500.00	\$5,500.00
4 INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE DEVELOPMENT, COMPLETE IN PLACE	THIS AC	1	\$6,000.00	\$6,000.00	\$6,633.00	\$6,633.00	\$6,000.00	\$6,000.00
5 EXTRA 18" THICK CONCRETE RIP RAP, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	10	\$170.00	\$1,700.00	\$119.00	\$1,190.00	\$110.00	\$1,100.00
6 4" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CA CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	PS, LF	150	\$10.60	\$1,590.00	\$21.00	\$3,150.00	\$26.00	\$3,900.00
7 EXTRA TRAFFIC CONTROL SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$166.00	\$166.00	\$150.00	\$150.00
8 EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONL' DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	Y AS CY	10	\$15.00	\$150.00	\$32.00	\$320.00	\$15.00	\$150.00
9 ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	ÊA	1	\$250.00	\$250.00	\$28.00	\$28.00	\$400.00	\$400.00
10 EXTRA ORANGE CONSTRUCTION FENCE, (TO BE USED ONLY AS DIRECTED THE ENGINEER), COMPLETE IN PLACE	BY LF	100	\$1.00	\$100.00	\$1.10	\$110.00	\$1.00	\$100.00
11 DEWATERING, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECT BY THE ENGINEER), COMPLETE IN PLACE	ED LF	1000	\$40.00	\$40,000.00	\$44.00	\$44,000.00	\$40.00	\$40,000.00
12 WET SAND CONSTRUCTION AS PER DETAILS AND RECOMMENDED BY GEOTECHNICAL ENGINEER, ALL LINE SIZES AND DEPTH, (TO BE USED ONLY DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF 'AS	1000	\$10.00	\$10,000.00	\$11.00	\$11,000.00	\$10.00	\$10,000.00
13 8" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CA CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	PS, LF	150	\$14.80	\$2,220.00	\$42.00	\$6,300.00	\$43.00	\$6,450.00
DIVISION IV - MICELLANEOUS ITEMS SUBTOTAL:				\$81,510.00		\$112,015.00		\$77,850.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS

DECEMBER 12, 2023 LJA ENGINEERING, INC.

				1) MTEX COM	1) MTEX CONSTRUCTION, LLC		2) BLAZEY CONSTRUCTION SERVICES LLC		3) KENNETH LAMB CONSTRUCTION CO.,LTD.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
BIDDING SUMMARY										
SUBTOTAL DIVISION I - I	DRAINAGE FACILITIES ITEMS				\$320,901.50		\$311,486.35		\$346,663.00	
SUBTOTAL DIVISION II -	WATER DISTRIBUTION SYSTEM ITEMS				\$203,778.40		\$188,567.00		\$253,587.00	
SUBTOTAL DIVISION III -	SANITARY SEWER ITEMS				\$387,897.50		\$442,598.80		\$380,241.00	
SUBTOTAL DIVISION IV	MICELLANEOUS ITEMS				\$81,510.00		\$112,015.00		\$77,850.00	
TOTAL AMOUNT BASE E	IID				\$994,087.40		\$1,054,667.15		\$1,058,341.00	

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

DIVISION I - DRAINAGE FACILITIES ITEMS SUBTOTAL:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS DECEMBER 12, 2023 LJA ENGINEERING, INC. L.MARTINEZ DECEMBER 12, 2023

LUA	005 NO.		000				
		4) R CONSTRUCTION CIVIL, LLC				5) CROSTEX CONSTRUCTION INC.	
ITEN	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVI	SION I - DRAINAGE FACILITIES ITEMS						
1	24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1679	\$100.00	\$167,900.00	\$88.00	\$147,752.00
2	30" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	608	\$131.00	\$79,648.00	\$112.00	\$68,096.00
3	TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	2287	\$0.10	\$228.70	\$1.05	\$2,401.35
4	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,100.00	\$1,100.00	\$1,695.85	\$1,695.85
5	STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$2,100.00	\$12,600.00	\$3,000.00	\$18,000.00
6	STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$2,400.00	\$14,400.00	\$900.00	\$5,400.00
7	STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$2,100.00	\$16,800.00	\$3,000.00	\$24,000.00
8	STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$2,750.00	\$22,000.00	\$1,100.00	\$8,800.00
9	OUTFALL SLOPE PROTECTION NO. 1 FOR 24" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	2	\$6,300.00	\$12,600.00	\$15,000.00	\$30,000.00
10	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$2,600.00	\$26,000.00	\$3,400.00	\$34,000.00
11	OUTFALL SLOPE PROTECTION NO. 1 FOR 30" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$6,300.00	\$6,300.00	\$16,000.00	\$16,000.00
12	EXCAVATION AND GRADING OF EXTREME EVENT OVERFLOW SWALE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	245	\$4.00	\$980.00	\$25.00	\$6,125.00
13	EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 1' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	144	\$7.00	\$1,008.00	\$5.00	\$720.00
14	EXCAVATION AND GRADING OF DRAINAGE SWALE, 4:1 MINIMUM SIDE SLOPE - 2' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	185	\$6.00	\$1,110.00	\$7.00	\$1,295.00
15	REMOVE AND OFFSITE DISPOSAL OF STORM SEWER OUTFALL, INCLUDES SLOPE PAVEMENT, SLOPED END TREATMENT, AND ALLAPPURTENANCES, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,200.00	\$2,200.00	\$5,000.00	\$5,000.00
B0.00	DIONAL DRAWAGE FACILITIES IT THE CUIDTOTAL				000407477		****

3096-0101 (9.2)

\$364,874.70

\$369,285.20

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 1 $\,$

MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D

MONTGOMERY COUNTY, TEXAS DECEMBER 12, 2023 LJA ENGINEERING, INC.

				4) R CONSTRUCT	TION CIVIL, LLC	5) CROSTEX CONS	STRUCTION INC.
ITEM DESCRIPTION		UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS							
1 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCL AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	UDES FITTINGS, BEDDING	LF	2234	\$35.00	\$78,190.00	\$36.00	\$80,424.00
2 6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCL AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	UDES FITTINGS, BEDDING	LF	950	\$25.00	\$23,750.00	\$26.00	\$24,700.00
3 4" HDPE WATER LINE, C-906, DR 9, INCLUDES FITTI ALL DEPTHS, COMPLETE IN PLACE	NGS, BEDDING AND BACKFILL,	LF	300	\$18.00	\$5,400.00	\$17.00	\$5,100.00
4 TRENCH SAFETY SYSTEM, FOR WATER LINE, INCLU ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	JDES ALL LATERAL LEADS,	LF	3484	\$0.10	\$348.40	\$1.05	\$3,658.20
5 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	Ē	EA	4	\$1,900.00	\$7,600.00	\$1,900.00	\$7,600.00
6 6" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	≣	EA	4	\$1,350.00	\$5,400.00	\$1,275.00	\$5,100.00
7 FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN F		EA	7	\$5,950.00	\$41,650.00	\$5,600.00	\$39,200.00
8 WET CONNECTION OF PROPOSED 8" WATER LINE INCLUDES FITTINGS, ALL ADAPTERS AND CONNEC REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLO DEPTHS, COMPLETE IN PLACE	TORS NECESSARY, AND	EA	2	\$375.00	\$750.00	\$1,000.00	\$2,000.00
9 SHORT SIDE DOUBLE OR SINGLE SERVICE, INCLUE ALL NECESSARY CONNECTORS, AND TAPS, COMPI		EA	28	\$950.00	\$26,600.00	\$1,660.00	\$46,480.00
10 LONG SIDE DOUBLE OR SINGLE SERVICE, INCLUDE ALL NECESSARY CONNECTORS, AND TAPS, COMPI		EA	12	\$1,600.00	\$19,200.00	\$2,620.00	\$31,440.00
DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS SUBTO	OTAL:				\$208,888.40		\$245,702.20
DIVISION III - SANITARY SEWER ITEMS							
1 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' - 8' C BACKFILL, COMPLETE IN PLACE	EUT, INCLUDES BEDDING AND	LF	2266	\$38.00	\$86,108.00	\$38.00	\$86,108.00
2 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' BACKFILL, COMPLETE IN PLACE	CUT, INCLUDES BEDDING AND	LF	1701	\$40.00	\$68,040.00	\$41.00	\$69,741.00
3 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' – 8' C BACKFILL, COMPLETE IN PLACE	EUT, INCLUDES BEDDING AND	LF	83	\$40.00	\$3,320.00	\$38.00	\$3,154.00
4 12" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' – 8' BACKFILL, COMPLETE IN PLACE	CUT, INCLUDES BEDDING AND	LF	639	\$62.00	\$39,618.00	\$62.00	\$39,618.00
5 STANDARD PRECAST SANITARY SEWER MANHOLE ADJUSTMENTS, COMPLETE IN PLACE	, 0' – 8' DEPTH, INCLUDES	EA	27	\$3,100.00	\$83,700.00	\$4,100.00	\$110,700.00
6 EXTRA DEPTH ON SANITARY SEWER MANHOLE (OV PLACE	/ER 8' DEPTH), COMPLETE IN	VF	25	\$350.00	\$8,750.00	\$820.00	\$20,500.00
7 STANDARD PRECAST SANITARY SEWER MANHOLE DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN F		EA	1	\$7,500.00	\$7,500.00	\$6,500.00	\$6,500.00
8 STANDARD PRECAST SANITARY SEWER MANHOLE INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	, SEALED (0'-8' DEPTH),	EA	3	\$5,700.00	\$17,100.00	\$4,500.00	\$13,500.00
9 TRENCH SAFETY SYSTEM, FOR SANITARY SEWER,		LF	5986	\$0.10	\$598.60	\$1.10	\$6,584.60

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 1
MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D

5) CROSTEX CONSTRUCTION INC.

MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 1-MONTGOMERY COUNTY, TEXAS

DECEMBER 12, 2023 LJA ENGINEERING, INC. L.MARTINEZ

4) R CONSTRUCTION CIVIL, LLC

DECEMBER 12, 2023 3096-0101 (9.2)

				4) K CONSTRUCTI	ON CIVIL, LLC	3) CROSTEX CONS	TRUCTION INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1000	\$2.00	\$2,000.00	\$3.00	\$3,000.00
11	SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	25	\$950.00	\$23,750.00	\$950.00	\$23,750.00
12	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	1327	\$45.00	\$59,715.00	\$41.00	\$54,407.00
13	STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$450.00	\$900.00	\$750.00	\$1,500.00
14	WET AUGER FOR 12" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	30	\$210.00	\$6,300.00	\$125.00	\$3,750.00
DIVIS	ON III - SANITARY SEWER ITEMS SUBTOTAL:				\$407,399.60		\$442,812.60
DIVIS	ION IV - MICELLANEOUS ITEMS						
1	EXTRA REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$2.00	\$200.00
2	EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
3	HAUL UTILITY SPOILS TO DESIGNATED ONSITE DISPOSAL SITE, USING OFF ROAD TRUCKS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
4	INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
5	EXTRA 18" THICK CONCRETE RIP RAP, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	10	\$180.00	\$1,800.00	\$125.00	\$1,250.00
6	4" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	150	\$25.00	\$3,750.00	\$30.00	\$4,500.00
7	EXTRA TRAFFIC CONTROL SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$250.00	\$250.00
8	EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$15.00	\$150.00	\$40.00	\$400.00
9	ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	ÉA	1	\$250.00	\$250.00	\$150.00	\$150.00
10	EXTRA ORANGE CONSTRUCTION FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$2.00	\$200.00
11	DEWATERING, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$40.00	\$40,000.00	\$40.00	\$40,000.00
12	WET SAND CONSTRUCTION AS PER DETAILS AND RECOMMENDED BY GEOTECHNICAL ENGINEER, ALL LINE SIZES AND DEPTH, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$10.00	\$10,000.00	\$10.00	\$10,000.00
13	8" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	150	\$45.00	\$6,750.00	\$35.00	\$5,250.00
DIVIS	ION IV - MICELLANEOUS ITEMS SUBTOTAL:				\$88,050.00		\$87,200.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS DECEMBER 12, 2023

DECEMBER 12, 2023 LJA ENGINEERING, INC.

				4) R CONSTRUCTION CIVIL, LLC		5) CROSTEX CONSTRUCTION INC.		
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
BIDDING SUMMARY								
SUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS					\$364,874.70		\$369,285.20	
SUBTOTAL DIVISION II - W	ATER DISTRIBUTION SYSTEM ITEMS				\$208,888.40		\$245,702.20	
SUBTOTAL DIVISION III - S	SANITARY SEWER ITEMS				\$407,399.60		\$442,812.60	
SUBTOTAL DIVISION IV - N	MICELLANEOUS ITEMS				\$88,050.00		\$87,200.00	
TOTAL AMOUNT BASE BII	D				\$1.069.212.70		\$1.145.000.00	